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® Statement :

®* Some A are B.
®* No A are B.

* All C are D.

® Conclusion:

* (I) Some A being D is a assumption.

* (II) All A being D 1s a given.
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* Which of the following diagrams indicates the relationship between profit,
dividend and bonus?

o Taferiagd 0 @ o9 91 forr ATy, ATIeT TR 99 o o GaeT 3101 ahl ShidT 82
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® Six persons A, B, C, D, E & F are standing in a circle. B is between D & C. A
1s between E & C. F 1s at the right of D. Who 1s between A & F?

ST AR A, B,C,D,E3RF U Ja i @2 el B,DINCHA=HE A, EARC
FHFHBIF, D arE ANl A TR F & o9 U shiq 82

A.C
B. D
C. E
D. None of these
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®* Which two signs should be interchanged to make the following equation

correct?
o Tfciiad 4 9 =i 91 gl 3T’ STl oht TR faf=m fou o gefientor st Ol
AT
* I8+ 12%x8—-6+3=09
A.+ and +
B. x and +
C.+and —

D.- and X
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®* What was the day on 26 November 1949?
® 26 TSI 1949 Rl i €T faT 12

A.Sunday

B. Saturday
C. Thursday
D. Wednesday
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Three positions of dice are shown. What will appear on the opposite to the face

containing A?

ar8 sht e Reerfaat feas 18 81 A 91 weteh o faadia o fe@rs e

A.C
B.D
C.B
D.E



SSC GD 2022-23

® Statements:

* No Spiderman is Superman. SI§ FATSSTH HULH & &I
* No Superman is Batman. 33 UUH SigH &1 o

* Some Spiderman are Batman. %% T3S i B

* Conclusions:

* I. No Batman 1s Spiderman. IS STHT T3S &1 2

* II. No Batman 1s Superman. ﬁé@?{lﬁ?ﬁ?ﬁ%l

* III. Some Supermen are Spiderman. @'@WW%I
* IV. All Batmen are Spiderman. Oyt SIgH WSS B
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* The age of the mother 1s thrice the age of her daughter. Six years ago, the age of
the mother was five times that of the daughter. What was the age of the
daughter 6 years ago?

* Hi 3ht ST IGeh! TAT 3T T W T4 T 81 ©: I Ted, |l ohl Y Tt ohl 3R & i
T ol 6 I TR T AT ATy R off?

A.36
B. 12
C.6

D.30
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® Direction: What number will come 1n place of the question mark (?) in the

number series 1in each of the following questions?

o TGeT: TTCTRIA G2 T Iieh 957 o 37ehi ohl JET | THAT=eh &g (?) o T W

ShI-HT T&IT ST 9
° 14,21, 29,38, 48, 59, 9

A.75
B.71
C.381
D.79
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* Find the square 1n this figure

* 3 Tehid H T 1A hITSIT

- /

A. 15
B. 12
C.7

D. 14
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® In a certain code PERSON 1is coded as 724163, SHARE 1s coded as 18542.
How 1s HERO coded 1n that code ?

* T THTEd &€ T PERSON &1 724163, SHARE &1 18542 % &9  ahilSd (ohdT 71

21 3T i T HERO i v shited foraT TaIT 22

A. 8246
B. 8244
C. 8264
D.2846
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®* Which number will replace the question mark ?

o g =g o TIAM U ki ©T E&IT AT 2

9\ 8 5 4 9 3

230 / \130 d A.120

. B. 130
7 \6 7 \8 6 2

C. 126
D.225



